1.) Factor completely:
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2.) Factor completely:
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3.) Factor completely:
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4.) A rectangle has a perimeter of 64 inches.

       Find the dimensions of the rectangle if the length is 8 inches more than the width.

Factor the following completely:

5.
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Solve the following for x:

9.
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11. The product of two consecutive odd integers is 13 more than 10 times the larger of the 
      Two integers. Find the integers.

12. A car traveled 24 feet after the brakes were applied. How fast was the car going when the 

      Brakes were applied?  b=0.06v2
13. The area of a rectangle is numerically 44 more than it perimeter. If the length of the rectangle 

      is 8 inchers more than its width, what are the  dimensions of the rectangle.
14. The hypotenuse of a right triangle is 6 inches longer than the longest side of the triangle and 

      12 inches longer than the remaining side.  What are the dimensions of the triangle?


15.  Solve: (3x+1)(x-2)=2(x-1)-4

16. Find the integers if the product of two consecutive even integers is 4 more than twice the  

     smaller of the integers.
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